Gabarito
Lista 1
1) (a){3,5,7,9,11,12}
(b) {7}
(c) 3}
(d) {3,5,7,11}
(e) {5,7}
(f) {3,5,7,9,12}

2) (a)d ;{1};{{2,3}};{1,{2,3}}
(b) & ; {R}; {O}; {M}; {A}; {R,O}; {R,M}
; {R,A}; {O,M}; {O,A}; {M,A}; {R,O,M};
{R,0,A}; {O0,M,A}; {R,M,A}; {R,0,M,A}

3) (a) Verdadeira
(b) Verdadeira



(c) Verdadeira
(d) Verdadeira

4) (a)E
(b) A
(c) E
(d) A
(e) b
(f) E
(8)
(h) A
(i) A
() A
(k) A
()¢



5) (a) P(A)={ ¢ ;{0};{1};{2};{0,1};
{1,2};{0,2};{0,1,2} }
(b) P(B)={d ;{y};{e}; {s};{y.e}; {ys}
;{e,st; {y.est}

6) (a)A*={(1,1);(1,2);(1,5);(1,7);
(1,8);(2,1);(2,2);(2,5);(2,7) ; (2,8) ;
(5,1);(5,2);(5,5);(5,7); (5,8); (7,1) ;
(7,2);(7,5);(7,7);(7,8) ; (8,1) ; (8,2) ;
(8,5);(8,7);(8,8) }

(b) W=1{(1,2);(1,5);(1,7) ; (1,8) ; (2,5)
;(2,7);(2,8);(5,7);(5,8);(7,8) }
(c)2={(1,5),(2,7) }

(d) W={(5,1)}



Lista 2
1) (a) 1. f=[-4;4]
g =[-3;3]
2. f=[-5;5]
g = [-4;5]

(b) 1. f(-2)=-1
g(3)=-4
2.f(-2)=-2

g(3)=2

(c) 1. f(x)=g(x) 2 x=-1
2.f(x)=g(x) 2 x=-20ux=4

(d) 1. f(x)=22>x=1
2.f(x)=22>x=-4oux=4



(e) 1. g(x)=02>x=-1;x=1;x=2
2.g(x)=0>x=-1

2) (a)D={x€ER/x>5/2}
(b)D={xER/x#5}
(c)D={xER/x>-5/3}
(d)D={xER/x<3o0oux=27}
(e)D={xER/0O<x<5}
(f)D={xER/x>0}

(g D={xER/0<x <20000}
(h)D={x€N/O<x< 30000}
(i)D={x€Z/x>0}

3) (a) -1
(b) 5/7



4) (a)y=4x-11
(b) y = - (3x/8) +(17/8)
(c) y = (2x/5) + (18/5)
(d)y =-(x/2) +2

5) (a)y=2x,x€EN
(b) y =51 - 2x
(c) D(x) ={x €N /x <25}
(d)y=41

6) (a)y = 100000 +10000x
(b) y = 140000

(c)D(x)={xEN/0<x<40}

7) (a)y=5+10x



(b) y = 55 - 10x
(c)D(x)={xER/0<x<5,5}

8) (a)y = 50000 - 1000x
(b) D(x) ={xER/5<x<14}

9) (a)y=10x
(b) D(x) ={xER/0<x<5000}

10) (a)y=12x+ 8000

(b) y = 20x
(c) D(x) = 8x - 8000

Lista 3



1) A(h)=m (100+ 50t)°
2) A(r)=mr* >D={r€ER/r>0}
3) AL =6L2
4) (a)D(L)=L~74/7
(b) D(L) = L/2,96
5) A(L) =12 +/3/2
6)  A(x)=-4x2+ 1500
7) (a)Q(p)=-2p+ 10, (b) R=5q-(q%/2)
8) (a)L(g)=-29*+9q-10
(b) g=9/4 - quantidade vendida
L=1/8 = Lucro

9) A=x (/400 —x?)/4
10) V (x) = 4x3 - 160x? + 1500x
11) R=g3*-159g+50

12) (a)R=500q/(1+q)



(b) L = (- 59 + 3959 + 100)/(1 + q)



